DPP

DAILY PRACTICE PROBLEMS

Class : XIth Subject : BIOLOGY
Date : DPP No. : 7

Topic :- Plant Growth & Development

1. Examples of plants which requires vernalisation is/are
a) Pea b) Beat c) Cabbage d) All of these

2. 1. More female flowers in cucumber
II. a-amylase production is barley grain
I1I. Acceleration of fruit ripening in tomato
IV. Delayed in sprouting in potato tubers
From the given effects find, out the effects of ethylene and choose the correct option accordingly
a) land II b) I and III c) [land IV d) Il and IV

3.  Study the following statements
I. Increase in girth of plants is primary growth
II. Increase in girth of plants occurs due to apical meristem
[1I. Secondary growth of plants occurs due to lateral meristem
[V. Vascular cambium and cork cambium are the lateral meristem of plants
V. Elongation of a plant along the axis is called primary growth
Choose the incorrect options
a) land II b) Il and IV c)IVandV d)IandV

4. Plant growth is unique because
a) Plant retains the capacity for unlimited growth
b) Plant retains the capacity for limited growth
c) Plants have diffused growth that differs from animals
d) None of the above

5. L Kinetin is a degradative substance from DNA
II. ABA is present in all plants including lower plants
[1I. Low ratio of cytokinin to auxin favours root formation only
IV. ABA is synthesised catabolically through glycolysis pathway
Choose the correct combination of options
a) land Il b) Il and III c) Iand III d) Il and IV

6. Search for natural cytokinin lead to the
a) Isolation of zeatin from corn kernels b) Isolation of zeatin from coconut milk
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c) Isolation of zeatin from sugarcane d) Both (a) and (c)

7. Asleep movement in plants is a nastic response, that occurs daily in response to
a) Dark b) Light c) Water d) Both (a) and (b)

8. Synthetic auxins are used for
a) Killing weeds b) Ripening fruits
c) Increasing the size of the fruits d) Stimulating growth of cells in tissue culture

9. Inthe given diagram, identify the type of growth phase in A and B and choose a correct option accordingly

] Zygote divided

< [ - Cells capable of division
>

Y'Y [ - Cells that lose capacity to divide

a) A-Arithmetic phase; B-Geometric phase b) A-Arithmetic phase; B-Arithmetic phase
c) A-Geometric phase; B-Geometric phase d) A-Geometric phase; B-Arithmetic phase

10. How does pruning help in making the hedge dense?
a) It induces the differentiation of new shoots from the rootstock
b) It frees axillary buds from apical dominance
c) The apical shoot grows faster after pruning
d) It releases wound hormones

11. Which one is not an ethylene effect?
a) Swelling of axis b) Apical hook formation in dicot seedlings
c) Horizontal growth of seedlings d) Apical dominance

12. Which of the following in incorrectly matched?
a) Explant - Excised plant part used for callus formation
b) Cytokinins — Root initiation in callus
¢) Somatic embryo- Embryo produced from a vegetative cell
d) Anther culture- Haploid plants

13. Which plant growth regulator is responsible for triple response?

b) IAA IBA d) ABA
a) CH, ) c) )
14. Choose the incorrect pair.
a) Auxins - To grow b) Gibberellins - Gibberella fujikuroi
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c) Cytokinins- Herring sperm DNA d) Abscisic acid - Flowering hormone

15. Which of the following is/are example/s of long day plant?
[. Tomato
I1. Maize
I1II. Rice
IV. Radish
Choose the correct option accordingly
a) land Il b) lIl and IV c) Only IV d) I, [T and III

16. Identify A and B in the given figure and choose the correct option accordingly
o A

Shoot [

a) A-Root apical meristem; B-Shoot apical meristem
b) A-Shoot apical meristem; B-Root apical meristem
c) A-Apical tissue; B-Radicle tissue
d) A-Radicle tissue; B-Apical tissue

17. Indentify two of the following phytohormones, which regulate the stomatal movements?

LIAA II. GA3
I11. Zeatin IV. ABA
a) Iand III b) Il and III c) llland IV d) Il and IV

18. The ripening of fruits can be fastened by treatment with
a) Gibberellins b) Cytokinins c) Ethylene d) Auxin

19. Prunning of plants promotes branching because the axillary buds get sensitized to

a) Ethylene b) Gibberellin c) Cytokinin d) Indole acetic acid

20. Identify 4, B,C and D from the given figure and choose the correct accordingly
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a) A-Hypocotyl, B-Cotyledons, C-Seed coat, D-Epicotyl
b) A-Epicotyl, B-Cotyledons, C-Hypocotyl, D-Seed coat
c) A-Epicotyl, B-Seed coat, C-Hypocotyl, D-Cotyledon
d) A-Hypocotyl, B-Seed coat, C-Epicotyl, D-Cotyledon
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